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181 circles in a pentagon 182 circles in a pentagon 183 circles in a pentagon
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184 circles in a pentagon 185 circles in a pentagon 186 circles in a pentagon
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N = 187 N = 188 N = 189

187 circles in a pentagon 188 circles in a pentagon 189 circles in a pentagon
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radius = 0.058148151436  density = 0.835443281080 QEgmns radius = 0.058011965909  density = 0.835981282794 gEgors radius = 0.057887757934  density = 0.836833005565 B S
tio = 17.197451256909 contacts = 376 peed ratio = 17.237822996184  contacts = 371 Eeed ratio = 17.274809660795 contacts = 405

N = 190 N =191 N =192

190 circles in a pentagon 191 circles in a pentagon 192 circles in a pentagon

radius = 0.057732101738  density =
atio = 17.321385674442  contacts =

36742501853 o radius = 0.057580382406  density = 0.836731261856
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